A & 0l & AtES & Al

A

0243 20laF LetalH AMH
A AMH
B QNP EOIME HOIEZ
el AEGEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2AMH 805,441 758,267 47,174
QIMT FRIME HSH 272,022 266,667 5,35
ANEHAE 29 222,022 216,667 5,3%
AEHHE 2O 77,710 77,413 297
202 04| 1,380 1,083 297
01 2K 1,380 1,083 297
O&d= NXIEHH #IXI0H
60,0002 x4 & +23] 480
O35 29 & gRFA us &HA
60,0002 x3& %52 900
301 EtE N = 76,330 76,330
07 S8 -0 - 2243 71,450 71,450
ool Jlz=g 300,000« 15« 12& 54,000
o0y o= 300, 0002 x15E <22 9,000
o0l 3lo&As ¢
20,0002 x15F 22|« 12& 7,200
otz sl 25,0003 x25 2 +23] 1,250
11 #AIAMHIXIZ S 1,280 1,280 0
O0ly A8U=, MOILS 44X 22
10,0002 8 162! 1,280
14 JIEt2 8= 3,600 3,600 0
O01& S| 20,0002 x15F«12& 3,600
X SSAS (FRIE 00l A) 100,000 100,000 0
101 @124H| 25,000 0 25,000
M OIRIMZZE2NSE S 25,000 0 25,000
OFEAAN SEXNZ0I 2SAH 25,000
—JlZ2= 1,100,000& «2H«8& 17,600
—&EE S 3,200,000 *14] 3,200
=5+ S 4,200,000 * 14 4,200
201 er23 | 35,000 10,000 25,000
01 At2teltl 30,000 0 30,000
O2AMH EE2LH M
10,0002 %1,000% 10,000
OF2EN T2 24 20,000
—ZA==g 200,000& *752 15,000
-2 Mz + 4,500,000 * 14 4,500
—E2H| 500,000& 14 500
03 A= SHI 5,000 10,000 /5,000
OANHI! SSHIEH A
5,000,000 * 14 5,000
401 AIEHIZ SR OHYI 40,000 90,000 /50,000
01 Al&HI 40,000 90,000 250,000
OFEAAN ARREE 2Ac|ArH
20,000,000& * 14| 20,000




M AMH

B QNP EOIME HOIEZ
el AEGEE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2iszdl ot 4l & AlE ZHIAIY
20,000,000& » 14 20,000
FUFOUA 2 1,200 1,200
301 EtE2 NS 1,200 1,200
11 #AIAHIXIZ = 1,200 1,200
OFCUEHHUA & SH2)| 22
20,0002 +x30H *23] 1,200
TR & dEe =g 43,112 38,054 5,058
201 Ler23 | 20,340 20,361 A21
01 At2t2ltl 19,800 19,800 0
O=F2UXXIHE 28 222 2
150,000& « 12& 1,800
O=2UAXIAHE 2o+
50,0002 «30H = 12& 18,000
02 S3=gHl 540 561 221
O=2Xtxlgl oI Mal=
45,0003 122 540
301 EtE NS 22,772 17,693 5,079
11 dAMEEIXIZE S 1,200 1,200 0
O=2IAXggs S d&X A8
40,0002 *30H 1,200
14 JIEt2 a3 21,572 16,493 5,079
=OIRXIE F2 ARE =2 XY
9,860 xBAI 220« 12 18,932
O=2XXI2 XHESAHA &l XIZ
11,0002 x2E* 102+ 122 2,640
M0 50,000 50,000 0
MESH Ol AALSY 50,000 50,000 0
401 Al HIZ S 0HbI 50,000 50,000 0
01 Al&H| 50,000 50,000 0
O=2 ANES(BAE & 2o1S) FHISA
20,000,000 *14] 20,000
O=o=8 21g 2& dia
30,000,000 *14! 30,000
SN sIIBtR= 422,523 382,523 40,000
st 2 ONE 422,523 382,523 40,000
SINBEE S A2 SRAS (FLUE A 422,523 382,523 40,000
401 Al HIZ S OHbI 422,523 382,523 40,000
01 A28l 422,523 382,523 40,000
O=XI0tE FAIZ =2 3Hl SA
20,000,000 * 14! 20,000
OEllE 2 X € Sti+2 S SA
15,000,000 * 14| 15,000
Osa0ts Sti=2 HE SA
20,000,000 * 14 20,000




2A:

M QMO SIS
el selletad 2O (Cte: M
. _ IE
SA - B S(BH) - MISAY - BAS Ofl kot ddT HR=2

ol &y

(@F)s=1l =

SAt

@F)=Ji]s=

OstditE

2,000,000 *14]
SYE E2 EX3At

20,000,000& * 14!

S MYZ OIAR EHTA

[— o

20,000,000 *14]

S 29=2 FHl & =2 &= SA

20,000,000 x14!

= DIEHH0IZ S22 FHISA

10,000,000& * 14!
AN HUS &3 Edl At
5,000,000 * 14

20,000,000 x14!

20,000,000 14!
} SR(HNCR) HEETA

20,000,002 %14]
2 SR(HIAER) 45 "y =

8,523,000 « 14!

7,000,008 14!
B2 A5HE BXP 52 =
10,000, 0002 %141

20,000,00024+14]
X2 SGAYTAL X BA

10,000,000& x 14!

2 X SAL & gAYz o4
10,000,000& %14
542 HE SA

15,000,000 & * 14!
10,000,000& x 14!

B2 OtAZE HEEIAL

20,000,000& * 14!

10,000,000& * 14!

20,000,000& * 14!

2,000

20,000

20,000

20,000

10,000

5,000

20,000

20,000

20,000

8,523

20,000

20,000

7,000

10,000

20,000

10,000

10,000

15,000

10,000

20,000

20,000

10,000

10,000

20,000




M AMH

Ha: oM SI|PRS
J

el selletad 2O (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O==0I2 AYUZ HEE ZAl
20,000,000& » 14 20,000
HH2AZHI(AMEH) 110,8% 109,077 1,819
el 42,108 41,405 703
elIg =3l 42,108 41,405 703
101 e124d| 42,108 41,405 703
01 &= 42,108 41,405 703
OAIZIRIRR4E
11,3192« 0 *30A[ 2+ 123 36,674
OAlAZ2+E(M=2HIY)
11,3192 x2& #4 Al 260 5,434
Jl=23sl 68,788 67,672 1,116
JI23Hl 68,788 67,672 1,116
201 et 3| 30,568 29,452 1,116
01 At22t2l] 18,600 17,100 1,500
OZdZed &EH s 7
232,000& %52 1,160
O=ZgH &Y § 7
240,000 *4CH 33 2,880
O=ADI €4 S 7Y 500, 00024531 2,500
O=AIBX 72 (M)
20,0002 x5 A% 12 1,200
OAMRES 7Y 20,0002« 11H« 122 2,640
O8=)| & &x= 40,0003 #2CH+ 123 960
OYPEA S04l
8,000« 1042 x 12 3,840
O=APRI, Zely =& ||
300,000& %52 1,500
OANEEE 82 N 90,0003 *43] 360
OoaR2E 7¢ 130,000& * 12 1,560
02 S3=gHl 11,968 12,352 N384
O8RS 50,000& * 122 600
Ostea 20,0002~ 12& 240
OXIIMNEZ 450,000& <123 5,400
OAIZ &l |XId| 740,000 22 1,480
Oo&Extg AZhl 230,000& * 128 2,760
OXFS A 58,0002 %12 58
O&sitg =7l 715,000 22 1,430
202 04l 27,000 27,000
02 A0 27,000 27,000
OZH048I 225,000 x10H* 123 27,000
203 =4l 11,220 11,220
01 D[22 HI S| 7,700 7,700
OUNHE 7,700,000 14 7,700
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